[image: image1.png]15-37. A man wearing ice skates throws an 8-kg block
with an initial velocity of 2 m/s, measured relative to
‘himself, in the direction shown. If he is originally at rest
and completes the throw in 1.5 s while keeping his legs
rigid, determine the horizontal velocity of the man just
after releasing the block. What is the vertical reaction of
both his skates on the ice during the throw? The man has
a mass of 70 kg, Neglect friction and the motion of his
amms.
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[image: image2.png]*1544. A boy A having a weight of 80 Ib and a girl B
having a weight of 65 Ib stand motionless at the ends of
the toboggan, which has a weight of 20 Ib. If A walks to
B and stops, and both walk back together to the original
position of A, determine the final position of the toboggan
just after the motion stops. Neglect friction.
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[image: image3.png]*15:52. The block has a mass of SO kg and rests on the
surface of the cart having a mass of 75 kg, If the spring
which is attached to the cart and not the block is
compressed 02 m and the system is released from rest,
determine the specd of the block after the spring becomes
undeformed. Neglect the mass of the cart's wheels and
the spring in the calculation. Also neglect friction. Take
k = 300 N/m.
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[image: image4.png]15-58. The three balls each weigh 0.5 Ib and have a
coefficient of restitution of ¢ = 0.85. If ball A i released
from rest and strikes ball B and then ball B strikes ball
C, determine the velocity of each ball after the second
colision has occurred. Neglect the size of each ball.
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[image: image5.png]*1564. If the girl throws the ball with a horizontal
velocity of 8 ft/s, determine the distance d so that the ball
bounces once on the smooth surface and then lands in

the cup at C. Take e = 08
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[image: image6.png]15-66. The ball is dropped from rest and falls a distance
of 4 ft before striking the smooth plane at A. If it rebounds
and in £ = 0.5 s again strikes the plane at B, determine
the coefficient of restitution ¢ between the ball and the
plane. Also, what s the distance d?
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